Name: MATH

___________________________________ MONKS

Multiplying Binomials with Square Roots

Multiply.
(x + V5)(6V5 + 2) =
(V10 +Vv8)(2v8-v10) =
(6V4 +3vV9)(6xV4+V16) =
(4x + V2)(3x - 5V2) =
(WV80 + 4)(V4 + 2w) =
6 (V2w + 8)(-V18w + 6) =
(7V8 + V4)(V3 + 1) =
(-8v20 + 2)(8 - V5) =
&) @v2-45)@3v2-45) =
(3V6 - 6x)(3V6 + 6x) =
(4V7 - Va)(2V5 - Va) =
(@ + V100)(-V9 - a) e
(rv36 + 7)(V2 + 8r) =
43 +3W2)43+3wW2) =
(3vV20 + 7V5)(8V5 + 3V7) =

(VO + xV16)(xV25 + V81) =
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Multiplying Binomials with Square Roots

Answers

(x + V5)(6V5 + 2) = 2x(3V5+1)+30+2V5

(2Vv10 + V8)(2V8-V10) = 12V5 -4

(6V4 + 3V9)(6xV4 +V16) = 252x + 84

(4x + V2)(3x - 5V2) =  12x2-17V2x-10

(WwV80 + 4)(V4 + 2w) = 8/5w?+8w(1+V5)+8

(V2w + 8)(-V18w + 6) = -6w-18/2w +48

(7VB+V4)(V3 + 1) = We+142+23+2
(-8V20 + 2)(8 - V5) = -130V5+96

(3V2 - 4V5)(3V2 - 4V5) = 98-24J/10

(3V6 - 6x)(3V6 + 6x) =  54-36x2

(47 - V3)(2VE - Va) = 8V/35-2Va(2V7+V5)+a

(@a+V 100)('\@ - a) = j?_z_'_ _1_??{:\:_3_(_) ______________________________________
(rvV36 + 7)(V2 + 8r) = 48r2+56r +V2(6r+7)

(4V3 + 3rV2)(4V3 + 3rV2) = 1812+ 24V6r + 48

Il
wn
N
o
_+_
w
O
q
wn

(3V20 + 7V5)(8V5 + 3V7)

(VO + xV16)(xV25 + V81) = 20x2+ 51x + 27



